The perimeter of AEKG = 33
KG =13 JC =11

Given:  AJWC= AEKG m/ W =62

m/ E = 70°

Find the measure of the remaining angles and the lengths of the

remaining sides of the two triangles.

ml_J =70 m/_C =4}-?'
mlK =blm. G = % /}

q we =]3
q EG = /)

JW

EK

Geometry 4-1: Congruent Figures

Objective: Recognize Congruent Figures and their Corresponding Parts

Congruent figures have Mﬁﬁm& When two figures are
congruent, y, ve one so that it fits exactly on the other
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¢ ways to make such a
-are shown below.
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Congruent polygons have 0 5 :
When you name congruent polygons| plways list PAL I

Example 1: ATJD = ARCF. List the congruent corresponding parts.
Angles: Sides:
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QC 1: AWYS = AMKV. List the congruent corresponding parts.

Angles: _iifles:
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Example 2: The fins of the Space Shuttle suggest congruent peptagons. Find m/B.
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QC 2: It is given that AWYS = AMKV. If m/Y =35°, whatis mZK ? Explain.
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Example 3: Decide whether the triangles are congruent. Justlfy your answer and write the

congruence stateéint. . A n,‘B C A C_D C/

QC 3: Can you conclude AJKL = AMNL? Justify your answer.
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The next theorem follows from the Triangle-Angle-Sum Theorem.
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Theorem 4-1
If two angles of one triangle are congruent to two

angles of another triangle, then —\—h(_/
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Example 4: Explain how you know that AABC = ALMN .

'.'437\’ -

B Stadements | Qeasns

AADC

Gvans




Hwk #20 - due tomorrow

Sect. 4.1

Pages: 200-202

Problems: 1, 5, 6, 11, 12, 14, 24, 26, 39, 40

IXL #11 - G.3 (if you didn't do it accidently last week) & J.1
due Friday at 4pm!



